EARAZROREIERT — 2 N— XBISY —F 2020558158 (£) 4A&HE4H

12R BE IR EEDE IR
[AE4£] 1% :370,000  ~ 2#&:118,000 3#&:67,000 43#&:44,0008” . 53 :30,000 9
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NN 4 | KzEiZE 1:30.3 3-3-2-2 | 38.7| — 5 47 | BTB—-A (BEE)
14| V—TTF72ER ft O52.0 =) a1y | BA=
RiFkLvH/FkEF BEa-F4IOLF 5 i
o = 44 | DOEERIGE 1:30.9 5-55-5 |38.8| — 3 488 |SMRBKX (BEHE)
2 1| INLR b7V —0O 56.0 3 Lo |#) KTZUNA#Z
L:rA7x BEYvYUSH NIENTT— L
¢ o 4 4 | LIE#ERE 1:31.0 1-1-1-1 | 39.6 | — 6 451 | AEEY (BHE)
K1 3 IR 54.0 (1/2) R R
:a-xI>79U> B:TSALTI MR HET7—L
=i = 44 | AEFBSR 1:31.3 4-4-4-3 | 39.5| — 1 475 | AEES (BHE)
4 A 2 Ty 7AXT 4« 54.0 (11/2) (+11) KHEABE
R:ZAv—hr77)a> B:TZ99¥a—7 FEEsgaed
s 4 | RAFRMAER 1:31.7 2-2-3-4 | 40.0| — 2 464 | HEMARIE (BEHE)
51717 F+U~+ 54.0 @) +2) (*ﬁ) J7—ZREY I
R:EI/ v Te BNFrvv TA XXy R &4t
- SHEA 2 66 3] - R (BHE)
Y - YA PRkt S 1%1 reee %3 ’ f_‘f) KEEZ 5
R:p-ITUr Byt RBRN4S
3 B 4t 4 | ETE 1:32.1 6-7-7-7 | 39.2| — 7 4 | BTBE—AN (BEE)
715|5 | VX/3IUT > 54.0 (1) (+4) | KHLADR
Ry —3UTL BATULTLA * 325415
5 ¢ . o4 | AUE— 1:32.1 9-9-9-8 [37.9| — 8 447 | ROTEE (BHE)
glglg| ¥ TRINILTF > 56.0 (7E) © | (B JPNHE
RO—JXA LA B:RAXES ML EviLyRT7—L
i 5 L o4 | FEEREH 1:32.2 8-8-8-9 [38.4| — 4 456 | TR (BHE)
9lglg|77RXTL T~ 56.0 (7€) 7y |AEZE
R:YZRE—3IZXE— BITRF— AL TINT7— L
@ I—F—@EBIERL
|3=7r= 3,7,4,2,1,5,6,8,9
20—7— 3,7,4,2,1,6,5,8,9
3O0—F+— 3,4,7,2,1,6,5,8,9
43—F— 3,4,2,7,1,6,5,9,8
[ N
B R 4 900 | | 71 K 1-4 4601 | | # = 1-4 1,640/ | | 3:&4& 1-3-4 4,240M
% B 4 240/ 3-4 1,080M | | & = 1-4 1,790M | | &8 4-1-3 28,400
1 200M 1-3 790M B H 4-1 3,390
8 390M

ARICOVWTRDTEEERROODE. TR LI,



